» 0.01
Q@
9.009
©
%.008
£
-§).007
9.006
X

©.005
®.004

O
$.003

()]
0.002

0.001

o q__ ....... T N S A
= C
@ C

0.5

originmal_Ste
mk it_step

Z

plxeTCP 'I_mplate step

tIto20_etaz
Pilto20_eta2p5t
%Ie steé)z pt1t020 “eta2 5to4 0
sie ptlto20 e‘fa2p to4p

pt1t020 eta2p5to4p0

‘QIO4 U

o
© 2

o
~

O o o o o ©
o o
> @™

(@]
ol

tr_@r;ks_g ragingfar_g',cles

&gl
o
o
=

Selgct
S
o
W

0.002
0.001

.....................................................................

Q

Ratio

0.5

10

e

D.018

................................................................




	Contents
	Page 1


